
Spiel 1 Spiel 2 Gesamt

Spiel 52 15:16 F 1 OFENBERGER Leo 49 + 57 = 106 O

F 2 UNTERSTEINER Johann 40 + 54 = 94 O

Spiel 54 15:33 F 3 SEIBERT Günter 56 + 62 = 118 O #

F 4 EXENBERGER Johann 46 + 48 = 94 #

Spiel 56 15:49 F 5 SCHIEFER Josef 49 + 53 = 102 O

F 1 OFENBERGER Leo 43 + 59 = 102 #

Spiel 58 16:06 F 2 UNTERSTEINER Johann 49 + 59 = 108 #

F 3 SEIBERT Günter 51 + 60 = 111 # #

Spiel 60 16:24 F 4 EXENBERGER Johann 51 + 45 = 96 #

F 5 SCHIEFER Josef 46 + 57 = 103 O

Spiel 62 16:42 F 1 OFENBERGER Leo 69 + 54 = 123 #

F 3 SEIBERT Günter 64 + 47 = 111 #

Spiel 64 17:00 F 2 UNTERSTEINER Johann 60 + 66 = 126 #

F 4 EXENBERGER Johann 58 + 54 = 112 O

Spiel 66 17:17 F 3 SEIBERT Günter 57 + 59 = 116 #

F 5 SCHIEFER Josef 55 + 53 = 108 # O

Spiel 68 17:35 F 4 EXENBERGER Johann 64 + 66 = 130

F 1 OFENBERGER Leo 56 + 61 = 117 # #

Spiel 70 17:53 F 5 SCHIEFER Josef 42 + 48 = 90

F 2 UNTERSTEINER Johann 66 + 46 = 112


